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GREAT THINGS TAKE
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' r & o Jength, v i & speed and 1 s time, the equation v = k.r/f? is dimensionally correct if k has the dimension of: |
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Question No. & “n

A lake with approximaiely circular surface bas so average radi 5 e el average depth b = 10 ¢
The volume V = xr’h of this lake in liters (L) is spproximste’y .
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Question No. 21 “n“ User

Nume
If one light-year (45 yaa 402) is the distance Light travels in | YEar one yeas 107, and  Mumb

the speed of light in space is (3 x 10" m/s), one liehi-vear i approxmate |y
(distance = speed « time)
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If one light-year (45 32 4i) is the distance light travels in | year, one year = 3 x 107 5, and
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If r is & length, A is an area and V is a volume, the cquation A.r ~ r*/V is dimensionally correct if m equals:
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I an airplane of velocity (v1 = 800 «m/h. north) faces a wind of velocity (v2 = 60 km/h, west).
' The resultant velocity of the plane Is:

| 0 (802 km/h, south of west)
‘§ ¢ (740 km/h, south of west)
" © (802 km/h, north of west)
(740 km/h, north of west)
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A cylinder of cybnﬂerof plahnumndium kept at the Bureau of weights and Measures n France
gives the standard of

- ® Kilogram
' ® pound

. @ meter

@ Ssecond
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| @ (802 km/h, south of west)
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! @ (740 km/h, north of west)




O Area rule

© Right-hand theorem
O Circle rule

O Parallelogram rule
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‘An atom’s radius is 101 m. This equals, (1 nano = 10 1 micro (u) = 10° nano,
l:ln-w‘um)
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